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Home Work Question- 1 November

Q.26 Which one of the following lakes forms the international border between
Tanzanma and Uganda?

FTTRad & & hi-§l1 Teh ST dSTi-RIT ST ITST o el STqrsg i |7 STt 87

(a) Chad/ =TS

) L?m

(c) Malawi
(d) Jambezi/STTFsisit
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* Lake Victoria 1s also known as Victoria
Nyanza. This lake forms the international
border between Uganda-Tanzania,

Uganda-Kenya and Kenya-Tanzania.
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Q.1 In which Indian Religion, there are 24 Tirthankaras?
/Fmr{:rqr{‘cﬁ?r%ﬁﬁ24a°r9foh{§qﬁ? (L

S.S.C. AT &HTdeh & (T-I) 2 fordsiy, 2016 (1]1- dredt)

() @

(b) Hinduism/ g
(¢) Buddhism /g
(d) Sikhism /@
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@W%ﬁ%ﬁéﬁﬁ?ﬂﬂﬁﬁ " Safeh S
@c\// ol T el ST 81 S 99 H el 24 didet o

ST 2, e woe-ame TS e o e fehA | S e
W?‘IOMOM quq mwﬁmawaﬁnaﬁww
T

* According to Jain philosophy, the word Jain 1546:rlved
from the Sanskrit word 'Jin', which means conqueror. Jain

founders are called 'Tirthankaras' while Jain Mahatmas
are called 'Niyas'. There are a total of 24 Tirthankaras in
Jainism, who propagated Jainism from time to time. The
first Tirthankara of Jainism was Rishabhdev or Adinath
and the last Tirthankara was Mahavir Swami.
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Q.2 Lord Mahavira was born 1n present-day state of:
WIS HETNT okl STH JqHT THI oh TS H AT 912
S.S.C. JE Scifargehet Tiam 10 fedsz, 2020 (11 - 9Tei)

(a) Punjab /9STTsl
(b) Gujarat / TSIId

~//Qe) [BThar / [EECN é
) ‘Maharashtr

A
J

—_—
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a&ﬂ% EEE @ﬁlﬁ@?aﬁ%
243w 3fay didfe §T| B

%\ / ® Lord Mahavir was born in Kundagram of
Vaishali district of present-day Bihar state.

His childhood name was Vardhamana. He
attained enlightenment under the Sal tree on
the banks of river Rijupalika. He was the 24th
and last Tirthankara of Jainism.
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Q.3 Bahadur Shah I (1707-1712 AD) was the ruler of which dynasty?

/ SR TE (1707-1712 3.) Tord <31 3 S118ieh 7?2
mrvﬁ)

S.S.C. 3THeET CHSL (T-1) 24 SHat

(a) Nanda/Ag

———————

(b) Maurya/rﬁ'aQ

=r (M/ESQ
(d) Haryanka /

/
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@Ly  SETEL ITE JUH I S 14 ISR, 1643

SR, A f‘s'wmla‘s"ratwgwﬁﬁ

I ETdal qTe S1EME (1707-1712 3.) o |

@5% é‘ﬁ_%aTET I[?AWWIH)OhGQfII-I T @ISIG{-?IIE'»

Waﬁw?ﬁmﬁ@n

® Bahadur Shah I was born on October 14,
1643 in Burhanpur, India. Bahadur Shah I
was the seventh Mughal emperor of Delhi
(1707-1712 AD). Bahadur Shah, known as
'Shahzada Muazzam', was the second son of
Emperor Aurangzeb.
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Q.4 Which of the following is an INCORRECT sequence of Mughal rulers?

/ [TTRET W ShIH-HT 7Tl ITEehT 3 TTeTd ST5hA @ 2 s
S.S.C. AT ek T (T-1) 4 7=, 2020 (M- aet)

1526-1 530_/ ‘a) Akbar, Shah Jahan, Jahangir / 3ehal{,
1530-1556 TETET, SR
1556-1605 ) (b) Akbar, Jahangir, Shah Jahan / 31hsI{,

SHUTEIES
16051627 JAHANGIR ©) Jah Shah Jahan A .

C d anglr d anan, Aurangzce

1628-1658 HAH JAHAN ST STESTe, S

1659-1707 / AURANGZEB

(d) Babur, Humayun, Akbar/ dTsl<, §13|'|'é}>2
Hehs[{
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® T TR 1 F-1 STHA 8- (1526-1530 5.),
TAT (1530-1540 3T 1555-56 3.), 3R (1556-
1605 3.), SRR (1605-1627 §.), YM&stal (1628-
1658 3.) 3 FTST (1658-1707$)

—_—

®* The correct sequence of Mughal rulers 1s Babur
(1526-1530 AD), Humayun (1530-1540 and 1555-
56 AD), Akbar (1556-1605 AD), Jahangir (1605-
1627 AD), Shah Jahan (1628 AD) -1658 AD) and
Aurangzeb (1658-1707 AD).
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Q.5 When was the Indian national song 'Vande Mataram' sung for the first time on

/ a political occasion?
ﬂT{‘cﬁ?Iﬂ\ﬁZrTﬁ?r 'S AT Uga! AR TRt TSHTTdeh STaE U shel TRIT TRIT T 2

'S.S.C. SATET CHSL (T-I) 1634&28?.111?{1)

& (2) 1896 INC Session / ST TS SHiTE JTREYM, 1896
(b) 1900 INC Session/ﬂmﬁqﬂ@ﬁm I ENE] , 1900
(c) 1911 INC Session/STf TSI =hiTer AfRETH, 1911
(d) 1903 INC Session / 9T TS il TG, 1903

——————
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~\/
® AT TS hil| S , 1896 (hcdeh) T WRAT
/IW@?ITﬂ?r 'Sq HIGW Ygelt S TR 791 39 d s
T Sfhd Tvg IeSIt 9 oAl gl [ede, 1905 U hilg
FIIRITON sl 3o | 39 7 ohl T T o &Sl JeH

T 1R 31 T ST ST STTQTcTH oh STSeh 71T ST
I — —_
® The Indian national song 'Vande Mataram' was sung

for the first time 1n the Indian National Congress
session, 1896 (Calcutta). This song 1s composed by
Bankim Chandra Chatterjee. The song was accorded
the status of a national song at the Congress
Working Committee meeting in December 1905 and
became the title song of the Bang Bhang movement.
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Q.6 Who among the following was elected as the President of the Indian National

1938 ST 1939 H Toh&l WA TS il oh 7T oh & H AT 747 AT 2

~ = 3 AT CHSL (T-1) 14 m;ﬁ)

((S:ubhash Chandra Bose / gy EES

/ Congress 1n the years 1938 and 19397

. Rajagopalachari / 4.

Annie Besant / TAT SEe
Rajendra Prasad / {15 99T

—

—
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———+ 1938 ¥ Wi % RS (Ta) ARAR S I 1939 F B

/aﬁlé?{r—rﬁmmds\@w ohuHohaT%RI&T%FTTrqéilﬁqﬁaﬁéW

S\ ﬁm%ﬂa%gmwﬁ?rqgr dl{quoMWTvl?rWa‘a’aﬂﬁaﬂ

e T 7, WW%WWW@W% SFTLU]
EEIEASIURE %ﬁ?ﬂ SEECICISH uwls\EPEqu'?m"rﬁ"ér% ITTT T |

@% ® In the Haripura (Gujarat) session of the Congress in 1938 and
the Tripuri session of 1939, Subhash Chandra Bose was elected

the President of the Congress. He became the President for the

second time after defeating Pattabhi Sitaramayya supported by
Gandhiji in the Tripurt session, but he resigned due to
differences with Gandhiji on the formation of the executive;
After which Dr. Rajendra Prasad became the President of
Congress.
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Q.7 Which law was imposed in India during the command of General Dyer?
/ WA H ST ST o TRITEH o ST sh[H-8T ST ] {haT T T 2

S.S.C. AT MTS (T-I) 20 TR, 2021 (111- ITeft)

@ @
\

(b) Simon law / €IgHT bl

(¢) Discrimination law / HeyTd T

(d) Preventive detention/HaEh ﬁﬁ‘i{
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//‘JIR‘crﬁ S STE o SR % G [13 319,

1919 =T STTAATATAT o THaR ol ged Taarie

PE—

E1CT B3, TSIk oI1a Uil § T8I feiTe ot | 15

@MWW%&W@'

®* The heart-wrenching incident of the

Jallianwala Bagh massacre took place on April
13, 1919, during the administration of General
Dyer in India, after which the situation in
Punjab began to deteriorate. Martial Law was
proclaimed on April 15, 1919.
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Q8 W rted Ganesha Festival ?
/ A&ﬂk‘w| T TR TohaT T 2

S.S.C. 3THesT CHSL (T-I) 20 W@I- RIS))

(a) Mahatma Gandhi / &TcHT Tt

2 andnii /7 ek
4b) (‘I;okmanya Tilak/ATRHT |'?1cdoh)

(¢) Pandit Nehru /9. 98&
(d) Indira Gandhi / $feTr Tieft
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s ATRAT Tt = 1893 3. W TOTald Icdd' Ta
1895 5. H "RISITSI HEIcHe AT 3 A

ST SN N o
STHT I8 IIH_ TSRS LR ERASEI
TIAT H 38H fHeht TS |

* Lokmanya Tilak celebrated 'Ganpati Utsav'
in 1893 AD and 'Shivaj1 Festival' in 1895
AD. Later on, this effort of his played an
important role in the nationalist sentiment
among the people of Maharashtra.



TARGET GS- 25/25

Q.9 Which of the following is one of the Articles of the Constitution of India that
/ mentions the Comptroller and Auditor General of India?

WA o HIHTH 3T 8 hi--HT 3TT=0e 8, TSEH T o e 3N AeTderTiierh

T 37T B ? S.S.C. AT Tk T (T-1) 7 71=6/2020 (I1-3Net)
(G-
(a) 352 /

/(c) 156

(d) 280
R
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* WA HiGUM % 3Ffose 148 H WA

S frEw AT TEOETT

&h bl I % T

% eI T AeTaa ek i |«|e4|rh uwfﬁ

awn%l

/

omptroller and Auditor General of

India 1s mentioned in Article 148 of the

Constitution of India.

The Comptroller and

Auditor General of India is appointed by the

President.
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Q.10 Which present day Indian state came into existence as the Mysore state in
19537
AT GHY H hI-HT T TS 1953 H HEL ST oh &9 H SAeded H ST 2

—

~—

(a) Andhra Pradesh /jﬂT‘H e

(b) Tamil Nadu/diHerTe

-_—

/_/ © U:amatakam
(d) Kerala / A
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* JAU THI HT FAlcHh TSI ﬁ"at ST & ®9 °

/“ﬂﬁa—orﬁ?mql | 39 TS o1 T3 [ Ade, 1956 i
TS Tt it o S1ef forar ot | %FT
?Ts’flw ST hedrdl 91| aN 1973 d A ®Id(’|°h{
SFelieeh TET T |

* The Present day state of Karnataka came into
existence as the state of Mysore. This state was
formed on November 1, 1956 under the States
Reorganization Act. Earlier 1t was called
Mysore State. The name was changed to
Karnataka in the year 1973.
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Q.11 Which of the following states emerged as a separate state 1n 19637

/ 1963 T, HHTIRId T © ShI--07 TS Teh ST U5 TR VT 9T 2
o

/

(a) Tripura/ %ITI'{T
/(b) [Nagaland/:ﬂﬂﬁ_s'

L —

(c) Arunachal Pradesh/3T&0T=iet Ja3T
) Mizoram / THSTRH

—
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.
/\ S
X e .
//° eI 1 f8sR, 1963 T YA (169 Usd) & &9
T Hded W AT Tl ohl TSEHT hifear 2

STHII 36 TS 1 el ST TR &

R

® Nagaland came into existence on 1 December
1963 as the 16th state of India. The capital of
Nagaland 1s Kohima. Dimapur 1s the largest

city in this state.
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Q.12 Which of the following became the first country in the world to legalize
cuthanasia?
/I-—llﬂ-llcfllleld 19T % $o01 Hc il AT ST FATAT {14 sl TUH G0

S.S.C. AT HTaeh T’ (T-1) 30 ?ﬂTr'v—cr

(a) Belgium / SIS D

———— =~
- (b) [Netherlands / :
—
(c) Denmark / STHTh

S
(d) Canada / kTSl

/
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 Ofgshd 93T H 3= R IRIEL foreft <R k] £}
ATHSAT 3T e geg 1 o T &5 & T °h

ek A9 8] 99 2002 ﬁ?ﬂaﬁ@c‘r Rl e
Jerfes <=1 YeT S ATl WéYrEHTI

®* In medical science, euthanasia means suicide
with the help of someone and spontaneous
death or dying without suffering has wide
meanings. In 2002, the Netherlands became
the first country to legalize euthanasia.
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Q.13 The Westminster Parliamentary system was developed in-

/ SETHET AU YUTTcAT <hl o forerfara forarm = o |
S.S.C. AT CHSL (T-1) 1 ®adl 2017 (11 - UTedl)

(a) Spain/ T

A

(b) Australia/31 }A.
(c) USA/Judauy

() \/UK / aﬁ}
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* JEHES GHAT JUITCAT 3hl IATSES fohiTeH  (UK)

/ ﬁWW%&Tquﬂxs [hTTeH o §Y<

H<~¢{aﬁ%‘r% 38 GO qorTe!

Taq T 110 9&

N\ €\

F ST FET AT R |
\/ — —

®* The Westminster parliamentary system was
first introduced 1n the United Kingdom (UK).
The Parliament building of the United
Kingdom, named Westminster Palace, 1s said

to be the mother of the parliamentary system.
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Q.14 Which 1s the largest state of India 1n terms of area?

/ EABC ehl 1Y © YA hl Tad ST TS hiA-AT & ? C&\\/

S.S.C. IS T Taeh Tl (T-1) 8 3T, Q017 -dTeit)

(a) Maharashtra/ | HERTS

) m

(c) Tarml Nadu/diHe K

(d) Madhya Pradesh/Te Je31
/_/
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d * FABA h g ¥ URG 1 TId ST s
O/ / ~—~ - ‘
TSTEA 2 SHRT &% 3,42,239 a1 TohHT. =)
g6 SI1G ShHST: WL UaTT (3,08,252 3 TohHl.)
AT AR (3,07,713 o foref. ) a7 T 2

®* Rajasthan 1s the largest state of India in
terms of area. Its area 1s 3,42,239 sq km. Is.
It 1s followed by Madhya Pradesh (3,08,252

sq km) and Maharashtra (3,07,713 sq km)
respectively.
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Q.15 Which of the following Indian cities 1s situated at the banks of Lake Pichola?

/ mﬁﬁﬁ_w@ de X 3aRked g ?

(a) Agra/ AT
yd (b)\aaipur / IEIYX
———
(c) Kurnool / it
(d) Ahmedabad/3gHaTsTq
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@ N@IQ’II AT TS s 3SAT IeL o6 [Usiedt
/ M o Hehe Rua 23 I i His ar Bﬁ

Fhm il

® Pichola Lake 1s located near Picholi
village in Udaipur city of Rajasthan. This
lake 1s an artificial freshwater lake.
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Q.16 The river Nile 1s not a river flowing in which of the following countries?
et e i & o2 B e e (T
/ S.S.C. AT MTS (T-1) 16 31T, 2019 (II- TTe)

(a) Kenya/ T

_— (b) \Algeria/?rlwlﬁl fa )

— 7&
(¢) Egypt/fm&

(d) Tanzania/dSTT=

I
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* STHHISRT HETEIT o T W | YaTfed &I arcl! ford
S g e T (cfldlaiFFTWT6650 )

@W@Hﬁ%ﬂ%ﬁwa Teet, . AR,
awﬁ T, sﬁﬁm sfornfeT, gem, afE gem,
// JTiel, domEn ud e g U ged 2 g8 a9

34cfv|||<e4|ﬁ>|o|usc| T 2t 2

®* The world's longest river Nile (length about
6650 km) 1s an international river flowing in
the eastern part of the continent of Africa. This
river flows through Rwanda, Burundi, D.R. It
flows through Congo, Kenya, Eritrea, Ethiopia,
Sudan, South Sudan, Uganda, Tanzania and
Egypt. This river does not flow into Algeria.
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Q.17 Which of the following oceans is the third largest in the world?
/ﬁmﬁ%ﬁﬁﬁﬁq—mwaﬁﬂ T e e ST HEHTR 22

S.S.C. SAFATET MTS (T-1) 18 TSR, 2021 (1-9TedT)

(a) Atlantic Ocean / 3TEcTiIsh HETHNT
/ (b) Indian Ocean / I(\‘ﬁ’d qg @

/

(¢) Arctic Ocean / 3TTehideh HEENTL

(d) Pacific Ocean / IRTTd HETHT

—




TARGET GS- 25/25

* &g HeTamr (73.6 fferam &t fopft.) gfam o e

o N T

/" |EH ST AR 8| AT 31 Fer ST HeENH
JYTid HEMEIT (165.2 Tforr o T 3., SEIE
HTATNEH WK (106.4 Tufera ot forell.) gor

T W R

® The Indian Ocean (73.6 million km) 1s the third
largest ocean in the world. The world's largest
ocean 1s the Pacific Ocean (165.2 million km),
while the Atlantic Ocean (106.4 million km) 1s
second.




\ Arctic _ 3
I Ocean \ M

e _ { TARFFT (“UQ 25/28 _

/North
Atlantic
|- Ocean

North

A5°N/ ) .
AV America

)54 Europe ™ Asia VRN

| gy T g North
v | ( | /}"" ‘

. \ Ocean

| ' Central | | \ Africa O et
. L— ‘Amerlcalw,r -. | o

[ ‘ 1 I l /_\‘ _‘ 2 . I OO

| | ‘ l . | | Indian 3 ¢ | “

soun | ) || Southn, | ocean |\ [ A AT

PaCifiC ". “ “, 3 i _f 77,/ ’\ \l_d‘\/ ‘.‘ "' = - ¢ ~
/ .| |\ America, | | -, ‘

| : -1 ¥ | T | Australia |
900 w '~ | | | 1 ¢ ; | 90°E | { o
e - south _ /4 & Oceania
* l\ | Atlantic 'A / & i

| |
Ocean | ,

/caribbean

“35033 \ ¢

, H \ j / / / / / / /' 7/4508/ +’
\ \ | | ! | / J / y. A
,}'x \ \ | | [ L ¢ ’ /
\ } \ \ ot \ |\ | | | / /

\ Southern|
\ Ocean | A 0°

Antarctica




TARGET GS- 25/25

Q.18 The spring balance works on the principle of —
/ FHTHT TAT fohe Torgie ot shTe st 22 (-
— S.S.C. 3THTE HIdeh ™ (T-1) 31 , 2016 (ITJ- Treit)

z

(a) Boyle's Law/dl&et Epp

~—(b) THooke's Law / & |
MR

(¢)! Bernoulli's Principle /aRTel! Togid

y—A

(d) Pascal's Law / 9TEhet |
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* FHHIGR AT T Toh 3h1 qa (T0S]) &l 3895 T
/ ﬁﬂﬂ%ﬁT% [TEh] kOhﬁT{TvlSI &l %ﬁt‘q’ﬁ:{@
o g  FRI I8 W Ak S 21 e o

T AT 2T | IE o o faid W haral

/

* The spring balance 1s a type of balance (scales).
It consists of a spring to which one end is
attached and the other end 1s suspended by a
hook, whose weight is to be determined. It works
on the principle of hook.



TARGET GS- 25/25

Q.19 If ice floating on water in a vessel melts, the water level in the vessel :
TG T T | dXdll §8 o e 7, A1 39 a1d § 9T Rl T 2|
S.S.C. AT CHSL (T-T) 16 S, 2017 (I11- 9Teh)

(a) 1ncreases / dedl H

__~" (b)|does not change / mqﬁ%
P S

(¢)| first increases before decreasing/ ER]
gar & fh Tear g

f

(d) decreases / ¥Zdl g

—_——\
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* Jfq ToReT o1 H ot g3 9% fUererd! &, af 34
A o U ST ST SAT T o7 37T SqIETdd
T |

* If the ice floating 1in a vessel melts, then the
level of water in that vessel will remain

unchanged.
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Q.20 Why does ice covered in sawdust not melt quickly?
/ SIS § Gohl B 9% Sieal § AT g [Uererdl ? CG“L/

S.S.C. AT HTaeh T’ (T-1) 28 2016 (I}-9Teih)

(a) Sawdust does not allow the air to touch
the ice /STGT &I shl SI% Tk &l ST T |

(b) The water 1s absorbed by sawdust /
STET I Rl |G T 2

é(c) Sawdust 1s a bad conductor of heat /
[STCTGT ST 3T eIl o

(d) Sawdust is a good conductor of heat /
ST ST T FATA ol
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* SIS © Gehl 3 oIh STedl T8l U, Eliﬁfmra?ﬁ'?r

@/CL ik ohtucdoh%l ST o FeTeToh 21 3 i

el his SITEl JoH] Wqﬁw ST % oAl
Wﬁwwae%ﬂ‘( %ﬂ‘(ﬁﬂﬂ?ﬁ%l

® Snow covered with sawdust does not melt

quickly, because wood 1s a poor conductor of
heat. Due to being a poor conductor of heat,
wood does not receive any external heat, due to
which the temperature of the ice does not
decrease and it melts slowly.
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Q.21 Why the Earth 1s having 1ts own atmosphere?
/ qeat T AT ARHSA FT & 2

S.S.C. AT HIdeh T (T-1) 27 , 2016 (II1\ 9Teit)
(CA-

(a) Winds /dmq
(b) Clouds / sTTeat

— (c) (;}ravity/gbconohﬁw 9feh
(d) Rotation of the Earth 7 72t 3 Fof

—




TARGET GS- 25/25

® TocaTeRNUT ik o hUT Gl 3hi U] ATIHE %I
Wﬁaﬁﬁm@sﬁ%aﬂwwwm E7

o qesfl € 7'l AU {4 1 Tedeh ] E@{W
ﬁaﬁaﬂtawﬁ?rohml {6d|%l?m"vﬁohd|d cAD]
I I trr(\ctrﬁ‘m" HTHYUT <hl TecoTohYUT T 38H

SCH S ca ‘Ib(‘OIIOhGi'UT sl onal \TIICII %|

® Earth has its own atmosphere due to the force of
gravity. Newton said on the basis of his
fundamental discoveries that not only the earth
but every particle of the universe attracts another
particle towards itself. The mutual attraction
between the particles 1s called gravity and the
force produced by it 1s called gravitational force.
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Q.22 Which of the following 1s NOT an electrical insulator?

/ frfcTiad 3 9 i forera e &1 82
S.S.C. JE Scilorgehel WIeT 24 HTS I T

(a) Diamond / I
~_(b) (Gold KD

/

(c) Rubber /&g
//

(d) Glass /€T
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* G (TTee) foad 1 T 311 garas 8l 31
Tg_forraies TE 2, Selieh o, e qeT Hm
For2Id o FrarTeieh 3T UL ¢

i
* Gold 1s a good conductor of electricity. Hence

it 1S not 1nsulator, whereas diamond, rubber and
lead are bad conductors and insulators of
electricity.
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Q.22 Which alloy contains lead and tin?
/ - fierarg H e SR A 2 & 2

S.S.C. AT FiEs GD 3 AT, 2019 (11- 9Tedh)

(a) Gun metal/Tqd e

(b) German silver/STHA foeat

//(c{ g)lder/l:ﬁ@ ; N
(d) Bell metal

e
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* ZiFT (Solder) @8 (Lead) 3T f& (Sn) &
forsror @ s et ek aTeft ek T 2l
SHeRT AT 913 H SIS T = [T STl

;‘% —
|
m—

f

® Solder 1s an alloy of low melting point
made from a mixture of lead and tin (Sn). It
is used for joining metals.
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Q.23 Deficiency of which hormone 1n the body causes 'goitre’?
e YRR T e BTHIA Shl et o ST SET (TMEeT)RIaT © 2

S.S.C. AT MTS (T-1) 9 &, 2019 (111- Iredt)

Thyroxine/ 9T o

e

(b) Testosterone

(¢) Adrenaline/U |\€A§| ot

@) Estrog_e:i_/ /QF?AEI S

—

—
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o IR T HET T (MN3X) TTA H 3cq~ BIdT & 9T 399
/W@M@ﬁﬁlﬁﬁﬁ@ﬁ%&ﬂﬁﬁ%wwl 9 TS
g AT T BTHIT Rl 3cdSi hH BT & aﬁT@T

Wﬁiﬁ‘IMISH T FHT o6 h LY Sldl %|

e
* In the body, goiter originates in the throat and

the thyroid gland is affected by it. Due to this
disease, there i1s a decrease in the excretion of

thyroxine hormone from this gland and this is
due to the lack of iodine in the diet.
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Q.24 Which of the following disease 1s of non-communicable nature‘?

e ffTRad | | sH-H1 SuT STEshHeh e ohl & ?

P
S.S.C. AT &raeh & (T-1) 11 W.WFFD

(a) Cholera/%TTIT
(b) Chicken pox/ﬁW
(¢) Tuberculosis disease/&d T

//(d) Cancer /& ﬁ_"D

/




St/

® heh U AT haT 31&1’%%}37%! FT Bl =Eh
@1/ fereuSt e, Sfeh &5 o & T Sfiamsia
/u H%lHohﬂaﬁr?ﬁaﬁWﬁ%I

® Cancer dlsease or cancer 1s of non-

communicable nature. Smallpox 1s wviral,
whereas cholera and tuberculosis are
bacterial diseases of infectious nature.
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Q.25 Which disease 1s caused by nickel?
/ﬁ?-wﬁﬂ Fehet o FROT BIAT ® 2

S.S.C. AT & Tdeh Tl (T-1) 11 3T, 2017 (I11- 9Tei!)

(a) itai-itai/ 3IR-3T8

(b
(¢) learmng dlsablhty/l:ﬁ@ i

|O|°|'>Q’||‘|<'|I
(d) Asthma / qHT

\_—’

———
Dermatitis/cT IR
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o f7oheT (Nickel) & HRUT @=RNY (Dermatitis)
T BIAT 81 90 T caal O et T b gotel!
Tt (Iichy) € o Fehd 33 ST B

* Nickel causes dermatitis. In this, red 1tchy rash
and rashes usually emerge on the skin.
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Q.26 The deficiency of which mineral may cause osteoporosis?

/o s i st & AT 2w 82
- S.S.C. JE farferet wdierm 23 e, 2021 (1-9Ted)

(2) Fluoride / %I

(b) Calcium / FHieIaH

(¢c) Iron / 3ATIH
(d) Sodium / @ifsay

™
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o Ffosy I FHl O FTeaqifte qme =y
3T~ B Wehel! 2| TE Teh Ul SRy 7, forew g
T Tcd AR TUERT FH & S gl 36 Rfd d

[N * \ \ [a) U N N NN\
giSTT FHSIIL AT TSI &l ST &, o et g
ST AT S ST 2

® Calctum deficiency can lead to a condition
called osteoporosis. It 1s a disease 1n which the
density and quality of bone decreases. In this
condition the bones become weak or fragile,
which increases the chances of fracture.
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